
Kalibrace manometr̊u

• Př́ımé porovnáńı

• Redukce tlaku
• metody statické
• metody dynamické

() F4160 1 / 8



Statická expanze

pn = p1 ·
V1

V1 + V2
· V2
V2 + V3

· · · Vn−1
Vn−1 + Vn
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Pomalý vzr̊ust tlaku
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I = G(p1 − p2)

pro p2 � p1
I = Gp1

I = V2
dp2
dτ

dp2
dτ

= p1
G

V2
= a

p2 = p0 + aτ

pro p0 ∼ 0Pa

p2 = aτ
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Dynamická expanze
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I = G2(p2 − p1) = G1(p1 − p′)

p2
p1

= 1 +
G1

G2
(1 − p′

p1
)

pro velkou čerpaćı rychlost p′ � p1

p1 =
1

1 + G1
G2

p2

pro G2 � G1

p1 =
G2

G1
p2
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p =
I

S
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